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What is the right frequency for inspecting cars?
Not an easy question to answer.

Autofore gave one analysis of the question.

A ‘controlled experiment’ would be ideal.

In practice you have to make a ‘best estimate’ using
best evidence available.
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Total cost of proposal (in terms of additional
casualties) =

Proportionate increase in number of unroadworthy
cars on the road X

percentage of accidents caused by unroadworthy
cars X

total costs of all accidents in cars.




Department for

Transport

This function =

total number of current car failures in year of PTI
we propose to remove +

total car fleet x

percentage of unroadworthy cars on the road.
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These are not absolute numbers — we need to include sensitivity allowance

Random surveys in the UK that roughly 8% of cars on the road have serious
roadworthiness defects.

35% of cars fail their PTI - so that, on average, the random chance of
finding a car on the road with a PTI defect would be half that figure - 18%.

Taking into account the fact that defects are most likely to develop over
time, we have instead used 12% as a reasonable upper estimate.

These two values probably represent extremes.

We have also included 10% as a mid-range value.
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There is no internationally agreed average value.

This function is obtained from estimates which vary from 2-3%
(according to various UK studies)

to 10% (according to the German study cited in Autofore).

* SENSITIVITY *

We have used these values as extremes 2-3%, 10% and a
mid-range value of 6.5%.




Fatal
accident

Total number of
incidents in 2005

At 2-3%
involvement

At 6.5%
involvement

At 10%
involvement

Serious injury
accident

Slight injury
accident

170793
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Damage -only
accident

750000
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Let’s firstly focus on our low estimate of 8% of the percentage
of unroadworthy cars on the road at any one time.

So, on basis of PTI car failure rate at year 3, the increase In
unroadworthy cars on road = 28%.

Let's also focus on our low estimate for the accident-
Involvement rate of unroadworthy cars, which is 2-3%.

So, the Iincrease In fatalities = 87 x 28% = 24
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| will give you just one other example quickly.

Let’s look now at the mid-range estimate of the percentage of
unroadworthy cars on road = 10%

In this case the percentage increase in the number of
unroadworthy cars on the road = 22%

And let’s also now focus on the mid-range estimate for
accident-involvement rate of 6.5% for unroadworthy cars.

So, the Increase In fatalities in this scenario = 87 x 22% =+ 2-
3% X 6.5% =55
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Accidents

Serious

Damage-only 217,312 278,606
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With any reduction in testing the number of
unroadworthy cars increases.

Increased number of unroadworthy cars =

Increased risk =

Increased number of casualties due to
unroadworthy cars.
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The monetary cost to the motorist of PTI

The personal time cost to the motorist of PTI
The emissions-savings resulting from PTI

The administrative cost-savings in the event of

reduced PTI (since reduced PTI would mean less
supervision by the State of the PTI process).
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 What do the overall costs and benefits look like?

* Full detalls of the UK assessment — including
consideration of all the ‘associated costs’ of PTI are
available on the UK Department for Transport
website through the following web-link:

 dft.gov.uk/pgr/roads/vehicles/mot/mot/motscheme.p
df
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Impacts on

Motorist

Motorist

Motorist

Type of cost

Cost of MOT
test

Personal time
cost
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Impacts on Type of impact

Society Value of
accidents
prevented

Society Value of air
pollution
prevented
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If all low costs to motorists
were associated with low
impacts (Al) - and all high
costs to motorists were
associated with high impacts
(C1)

If all high costs to motorists
were associated with low
impacts (A2) - and if all low
costs to motorists were
associated with high (C2)
impacts

A
£EM

1,669

net benefit to
society

1,080

net benefit to
society
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C
£EM

5,871

net benefit to
society

6,460
net

benefit to
society
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If all low costs to motorists
associated with low impacts (Al) -
and all high costs to motorists
were associated with high impacts
(C1)

If all high costs to motorists were
associated with low impacts (A2) -
and if all low costs to motorists
were associated with high impacts
(&)

1

cost to society

68

benefit to society
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103

cost to society

172

cost to society
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If all low costs were
associated with low benefits
(A1) - and all high costs were
associated with high benefits
(&)

If all high costs were
associated with low benefits
(A2) - and if all low costs were
associated with high benefits
(&)

26

cost to society

106

benefit to society
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280

cost to society

412

cost to society




If all low costs to
motorists were
associated with low
impacts (Al) - and all
high costs to motorists
were associated with
high impacts (C1)

If all high costs to
motorists were
associated with low
impacts (A2) - and if all
low costs to motorists
were associated with
high impacts (C2)

A
£M

257

cost to society

45

benefit to
society

Department for

Transport

C
£M

1221

cost to society

1523

cost to society
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*A PTIl cannot keep a vehicle safe until its next PTI.

*\We cannot say that a vehicle with a PTI defect will
be involved Iin a defect-related accident.

*\We cannot say that a vehicle involved in a defect-
related accident would have avoided the accident if
it had had a PTI shortly beforehand.

*But there Is some useful ‘hard evidence’ around.
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Thank you for listening and for your attention




